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= B AEE 40 @ 57l FAJYe
(1) BL3p=50]7]0 25(81%)
(2) €11 AL OF ZFo] Hdaab5o]oA 6(19%)
(3) RIAIE GO =go] & 71 oA 3(10%)
(4) FY T+ st Tgho] =go] 2 Z ZopA 2(6%) 36(100%)
(5) S A £l ofiA 0(0%)
(6) B2 AFUA] 0(0%)
(7) a7 0(0%)
NS oL A& sIPASY7I?
(1) 1/4 ojgt 0(0%)
(2) 1/4 o] 2/4 njgt 0(0%)
(3) 2/4 oA 3/4 b]gt 0(0%) 31(100%)
(4) 3/4 o] T2yt 2 A ZAA 2(6%)
(5) 719l 100%(# <] iy &A) 29(94%)
W5g 274stHA dopyg ZESIISUE? ((1)-3)2 4 450 ¥2749%)
(1) 9] FHs5HA] sk 1(3%)
(2) A1E TT okt 3(10%)
(3) TAQ}F Aol 91 wigt okt 8(26%) 21(100%
%%F@quﬁg B3] SAAT ASES2 A g199) (100%)
(65})%3?3% 5] 21 o5ESS vl A HX 9] 10(32%)
olo] & U XIdi2 ZFolAEA o A el ZrSFU7te
(1) A8 15X gkt 1(3%)
(2) 22X AT 1(3%)
(3) A 12i3ic}. 6(19%) 31(100%)
(4) A= 23938ct. 10(32%)
(5) Of% 1=i3ict. 13(42%)
|5 A, FnEdAL2 g5 =20 HAsUM?
(1) A5 2ZX] LSkt 0(0%)
(2) 22X AU 4(13%)
(3) 2/ 22i3)c}. 8(26%) 31(100%)
(4) giAl= 223t 14(45%)
(5) Of% 12i3ict. 5(16%)
Al 2 AIER 7] Y89 oJsfiet Asto =&o] EHASYI?
(1) "3 212X gk 2(6%)
(2) 227 4t 1(3%)
(3) 2/ 22i3uc}. 13(42%) 31(100%)
(4) A= 12{34ct. 8(26%)
(5) OfQ 1=j3hct. 7(23%)
o] &2 AEARA AAEFEN o] HRAFYI?
(1) Asy 2Fx] ek 1(3%) 31(100%)



(2) 22 L4odet. 3(10%)
(3) 1A J=3uct. 9(29%)
(4) iRl = 22i3ict. 14(45%)
(5) oi%¢ i3t 4(13%)
8. it YAtaASE 2 e FEE 7IS(RE
(1) A3 2ZA] it 0(0%)
(2) 22 &odet. 3(10%)
(3) 2A Z12f3ict. 9(29%)
(4) A= Je=fsict. 13(42%)
(5) wj¢ 223ict. 6(19%)
9. A EFe AAPSUIN?
(1) v AAS 1(3%)
(2) A2 oIt 3(10%)
(3) M=gct, 15(48%)
(4) WA L 9(29%)
(5) U5 Tkt 3(10%)
10. 729 Y& dol=9t #9 o|sfieo] 3 BE :
(1) 9% A 0(0%)
(2) 412 HolAt 2(6%)
(3) A2t 16(52%)
(4) O1PAIT Fergict 10(32%)
(5) |7 AR 3(10%)
11 35do] Fo&zet FoUgo] 2o #et 2& .
(1) ofe =a3uch 1(3%)
(2) =&t Holgltt 9(29%)
(3) A2t 12(39%)
(4) wrubstR| gk oreyct 8(26%)
(5) Ul whmpshct 1(3%)
12. o] =0} +7Fg o AT { FHiSAA FAASUIN?
(1) A8 25X Aodet 1(3%)
(2) 22 &otct 5(16%)
(3) & masc} 11(35%)
(4) tiRl= 22i3ict. 10(32%)
(5) mi¢ 2=fsict. 4(13%)
13. 45 E= ASAHTA session)2 F&35UH7H?
(1) A3l LA et 3(17%)
(2) 22 &det. 0(0%)
(3) & =270 6(33%)
(4) HAl= 2238 4(22%)
(5) Uj¢ Z223ict. 5(28%)
14. §921E R5ASU?
(1) A8 23X 4gket 1(5%)
(2) 237 okt 0(0%)
(3) & m2Act 4(18%)
(4) A= Zefsict 8(36%)

. B, AR, e-mail)E AlSHEUSUN?
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o15f 2. £3] midterm
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-There are too much 'okay?
-Need more contents. For example
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language wasn't required, which means we can live & study in campus normally. This
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-He teaches in English, making it the best class so far. Before entering SNU, Korean
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was not the case. We can't study nor live. Thanks to the professor. I
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